

4015 26 Ave SW - Revenue & Projected Revenue

BR					Term	Р	Projected Unit + Parking			Potential
Unit 1:	1	\$1,350.00	x 12	=	Aug-25	\$16,200.00	\$1,850.00	x12	=	\$22,200.00
Unit 2:	1	\$1,400.00	x 12	=	Feb-25	\$16,800.00	\$1,850.00	x12	=	\$22,200.00
Unit 3:	2	\$1,300.00	x 12	=	M-M	\$15,600.00	\$2,200.00	x12	=	\$26,400.00
Unit 4:	2	\$1,300.00	x 12	=	M-M	\$15,600.00	\$2,200.00	x12	=	\$26,400.00
Unit 5:	2	\$1,350.00	x 12	=	M-M	\$16,200.00	\$2,200.00	x12	=	\$26,400.00
Unit 6:	2	\$1,300.00	x 12	=	M-M	\$15,600.00	\$2,200.00	x12	=	\$26,400.00
Garage	0	\$520.00	x 12	=	M-M	\$6,240.00	\$0.00	x12	=	\$0.00
		Actual Monthly Total:				\$8,520.00	Potential Monthly Total:			\$12,500.00
		Actual Yearly Total:				\$102,240.00	Potential Yearly Total:			\$150,000.00

Expected Laundry Income: \$1,080 per annum

Approximate Expenses*

\$287.50 Insurance \$3,450.00 ÷ 12 = Yard Work & Snow Taxes \$6,966.10 ÷ 12 = \$580.51 maintained by Owner Utilities \$11,568.08 ÷ 12 = Monthly Expenses*: \$1,832.02













Excellent Investment Opportunity

4015 26 Ave SW





Benchmark

Phone: 403-874-0424 www.zaharko.com - chris@zaharko.com























Chris Zaharko

Phone: 403-874-0424 www.zaharko.com chris@zaharko.com MLS: A2165740
Subdivision: Glenbrook
Lot Size: 9,324 sq ft
Building Size: 6,306 sq ft

Units: 2 x 1 Bedroom & 4 x 2 Bedroom

Taxes: \$7,913.00 (2024)

This document is used for advertising & general information only. Although the information contained within is from sources believed to be reliable, no warranty or representation is made as to its warranties of content, accuracy, and reliability, with all information contained herein being subject to errors, omissions, conditions, withdrawal, or other changes without notice. Any interested party should undertake their own inquiries as to the accuracy of the information.



Main Floor Interior Area 699.44 sq ft
Excluded Area 49.00 sq ft



Phone: 403-874-0424

www.zaharko.com - chris@zaharko.com





Main Floor Interior Area 922.45 sq ft



Phone: 403-874-0424

www.zaharko.com - chris@zaharko.com

